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This paper contains ONE HUNDRED (100) multiple-choice, matching

questions, each question carrying TWO (2) marks. Attempt All the questions.

2L WLl dl (100) oglusely usell, vl A ASsi olruddin el

Q. M Uselivl ol quicinl 8. Uds ua-n & () @ B,

' was financially supported by ..........

(A) JISC

(B) Mellon Foundation

(C) Bill Gates Foundation

D) MIT
.2._ Who de&eloped OAIS (Open )
" Archival Information System) ?
(&) Consultative Committee for
Space Data Systems
(B) MIT University
(C) TFLA committge oﬁ star'ldal;ds 3
(D) IFLA Linked Data sub-
| committee |
|  Lib. &Inf ST

For strengthening purpose, ROAR 1. 30334 Hed * sl &¢AR

.......... A 25 wen 530 B.
(A) o‘;.uus.aa.@n. |
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Which of the followin_g'organi'zations

" supports the development standards

for cloud cbmputing ?
@) OPC

(B) OCP

(C) 0CC

(D) 18I

FAIFE stands for cerererenene

(A) Freedom of- Access

| Internai.:io-nal F.ormate of
Exchange

(B) Freely Access §f Information on

" Freedom of Expression

| (O Free Access to Information and

Freedom of Expression

(D) Free Accessibility of Internet

for E-resources’

' Lib.&Inf Sei1I
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(A) ...

B) ...

©) A

D) 2uS. A28,
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“Granthana : Indian Journal of

Library Studies” is the publication

(A) Department of Library and

' Ihformation Science, Delhi
University

(B) Library and Information

Scien'ée ProfesSionals
Association of Ptinjab

(C) Raja Ram Mohan Roy Library
Foundatioﬁ '

(D) Indian Library Association

-In an experimental research,
treatment is introduced to the

subjects in the ................

(A) Expe'rimental group onlj .

(B) Cont.rol group only |

(C) Experimental as well as control
groups

(D) Neither to experimental nor to

control groups

- Lib. & Inf. Sci 11
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. AIMS stands for ............

(A) Agricultural Information

Management Standards

' (B) Agricultural - Institute for -

Management Science
(C) Agricultural Information
Management System
(D) Agriéu-ltural Information
Marketing System
The Indian input centre for AGRIS
s | -
(A) Indian Council of Agricultural
" Research A ‘
(B) The Ministry of Agriculture
(C) Indian Agricultural Research
~ Institute

(D) Mahatma Phule Agriculture

University

. - - Which network was registered as a

society.?

(A) INFLIBNET

(B) OCLC

(C) BONET D
(D) DELNET ‘

Lib. & Inf. Sci—1I

AIMS ¢ Y3 -uM : |
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10. Which of the following is a 19, li-ustiell deoliawel u2d uesidl

'col.laboratlve network of reference o 224 £ 33; 3 ?
libraries ?

: S (A) de$ 32

(A) World Cat |

(B) ESS (B) iSﬂaﬂ%l
(©) Questibn-Poin‘t' : | - (© $ARAA, WS-
D) Gobgle Scholar D) 2ld AR

11. Idéhtify the web 2.0 features from 17 3 'erl-":lC-ﬂ' qlg[a.l[zﬂ de 2.0

the list given below : sl sl :
(@ Blogs S | @ i

() Folksonomy | ®) sl

() 'Se.mant.ic 7Web | (o) AAELs A

(d) Netvibes - o @ A2 aLded

Codes : ' slis ;

(A) (@) and (b) are correct - (A) (@) ¥ () Wi B
(B) (@) an& (¢) are correct o (B) (a) a»t-i ‘(c.)— AL B
(C) &) and (c) are correct (C) ) ?;{'1 ) wal &
(D) (@) and (d) are correct () (q) WA @_ Wl 9.
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12.

13,

14.

Mean is .....cccoeemnnenne

(A) Average of all the scores in a

distribution

-(B) Middle ‘most value in a

~ distribution

(C) Most frequently occurring

value in a distribution
(D) First value in a distribution
According to S.R. Ranganathan the
canons of chain are SR .
(A) .Canon of Ascertainability
(B) Canon of Recall valué_

(©) Caﬁon of filitary seqeunce

(D) Canon of decreasing expansion

Which of the following is not true
about the directory in the record
structure of MARC 21 ?

(A) The directory - begins in
character position 24 of the

record

(B) The directory is of variable
length '

(C) The directory consist of a series

of fixed fields
(D) Each directory entry is 24

character in length

Lib. & Inf, Sci.-II
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15. The classic three-phase inbdei of
change consists of .............. -
(A) lP'repa_I-'é, ‘ implement and
review
(B) Learn, _irﬁplement and
change
(C) Unfreéze,_ move or change and
N rt_afreezl.__ |
: (D) Identify, aésess and implement
16. Run charts in TQM disp1a§ E
(A) How problems or defects affect
eacﬁ othgr |
(B) C;'itigal time or period
(C) Comparative ‘p'r'oduction of
varjous itergs |
(D) Visual repzjeséhtafion of the
steps in\;olved in a specific
activity
Lib. & Tnf Sci 1T
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17.

18.

19.

Who is credited with the Bureau-

cratic Theory of Management ?

" (A) Henri Fayol

(B) Chester Bernard

© Peil;ef TDmcker

(D) Max Weber

The ......... ... i a statistical measure

that expresses fhe'strength of the

relationship between two variables.
(A) dentral tenfden_cy\

(B) Correlation coefficient

C) Sténdar_d deviation

(D) Mean dewviation

* The large volume of high vialbcity,

~ complex and variable data are

Lib. & Inf. Sci.-1I

termed as

(A) Big data

(B) Linked data

(C) Semantic data

(D) Ontology based data

10
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20. Lotka’s law deals with .............. | 20.

(A) Frequency of occurrence of
- words in a text

(B) Pro{duc.tiv.it_y of authors in
terms of scientific papers

(C) Scattering of articles over

different joufnals
(D) Growth of articles in a subject

21. Expert éys_tem have evolved froma 93

" long tradition of ........... research.
(&) _Ari:iﬁciai Intelligence
.(B) Knowledge- Representation
| .(C) Robotics o

(D) Natural language processing

22. The Library Association (UK)isnow  22.

called as ......... .
(A) UK Library Assocfatién-:
(B) Assbciq.tion of Libraries in UK
| (€) Federation 6f Libraries in UK
© CILIP | |
Lib.&InfSci-I | 1

diesiel Sl ......... A Aoy

99 9.

(A) @ruRiHl dadl .u&.e.“l-j,' a:ttéc[vt

B) daiBis i Aeolui Ausidl
Geulescl | ‘.

(C) RRe wHRAN agamqu_ébﬁ

@ As Quyui Aviil qfs

Ao o dion Anadl dsilad
WU gl Aewd Reen [la

s Ul .

(A s o

® sl %ud

(C) Qeidlsy,

D) seadl owu wBal |
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[ETTOOT T <
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23.

24.

925.

Scaler chain shows .............. 23.

(A) Authority structure
B) écale of performance of stéff_‘
(C) Chain for locating racks

D) A link in the chain

‘Time and Motion’ study was 24.

enunciated by :
(A) Edward ‘Evéns’ |

(B) Frank and William Gilberth

(C) Harrington Emerson
(D) G. McGregor

Who has proposed the principle . 25.

‘Libraries have to be paid for’ ?

" (A) F.W. Lancaster

(B) M.B. Line
(C) Donald Urquhart

D) Henri Fayol

Lib. & Inf, SciII 12
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27.

28.

' grants. copyright for

--------------

contents and delivers it to your

mailbox.

- (A) Weblogs

(B) RSS feeds

(C) Facebook

(D) Wiki

allows to Syndicate site -

Journal Citation Rrepor‘t (JCR)-

-------------

(A) Reéearch articles
. {B) History of éitations

(C) TImpact factor of Journals
_ -(D) G-index

Indian Copyright Act, presently

------------

(A) Fiﬁy’ years after the book is

published

(B) Fifty years after the death'. of
the author '

(C) _Sixty years. after the book is
published

(D) Sixty years after the death of

the author

Lib. & Inf, Sci—1I
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29.' The Berne Convention (1886) is 99

30.

as'soc.:ia'te'd With which of the

following aspect ?
(A) Tran_slations

(B) Copyright

(C) Bibliographic exchange

- (D) Célculating impact- factor of

journals

- Identify the correct elements of

‘AI.DA’; Iﬁodel in marketing
commuﬁication :
EA) Aftfact_ién," I'n.vestigation,
B Direction, Action
(B) Attention, Intﬁition, Desire,
At:guisition
()] | Attention, Iﬁteresf, Desire

Action

" (D) Abstract, Inqtitutidn, Diversity,

Action

Lib. &Inf.&:i.——ll

ol SvQetll (1886) (AHirAL 54l

Y AL A 8 7

(A) gt

- @B sidlade

30.

14

(© vy wuu-a
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¥ walaAdl A wd sl A
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(B) Buq, W, Suol, wltd’

(C) Bur, WA, S, s
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31

32.

the following :

(A) ILA

(B) ALA

- (C) SLA

D) LA

‘Fair Use’ is the norm of determining

" the legality of ..............

(A) Producing the second edition of

a book

~ (B) Photocopying an entire

book

(C) Making available a book to

another library on inter-library’

lean

(D) Prescribing a book as a

textbook

Lib. & Inf. Sci.—1I
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Idéntify the oldest association from . 31.

32.

(A) us. A4,

1A 2udennial ogrni o SN

sl sial

(B) 9.9d.3\.

(C)_.ﬂm.alet.ﬂ.

D), A A,

sty Jla ‘Aloy, Guaiey At el

. ABad sl W 8 -

(A) siul oflew zrug[ﬁ uﬁ{g. sdl
® dyd i faad s
(©) wlid? iallaq- (mzét gl B+
alutél?{ wadl sia Aadl wiydl
D) A mqum cltz'l} n;rz{m
" aundl
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33. “If you give me rice I will eat today;  33. ‘R il # v »uual dl § ¥

34.

35.

if you teach me how to grow rice,

I will eat everyday”..
I indicates..........

(A) Creation of new knowledge

- (B) Dissemination of _knbwledge

(C) Application of ]_mowledge

(D) Orgahisation of knowledge
‘Touch Point” end-user discovery

-------------

service is prdvided by

@A) LC

(B) ALA

(C) SLA

(D) OCLC

Information system was formulated

by evnierenees

(A) NISCAIR
(B) RRRLF
(C) DESIDOC

D) UNESCO

Lib. &Inf Sci-1

34.

'Nai:i_onal policy on Library and  35.

16 -

s, A di HA AvL 31 Glusa
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---------
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$1G-59
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36.

37.

What is Span of Control ?

(A) Number of activities that a

mahager can effectively handle

- (B) Strict control of the manager

over the staff

(C) Different types of controlling

mechanisms in an organization

an organization

Connemara Public Library was

established in the late :
(A) 17th Century
(B) 18th Century

(C) 19th Century

- (D) 20th Century

38.

grants for establishing ‘children
cornér" in public libraﬁes ?

(A) UGC

(B) RRRLF

(C) Children Book Trust

(D) National Library of India

Lib. & Inf. Sci-II

(D) ‘A specific period of control in

36.

37.

“Which institute provides matching  38.

17
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'39.- Identify the symbol of “Spiritual  39. sla- sc-mﬂ_s;’l?satvmi R R ENERC]

. Experience and Mysticism” as given AsURRYA A5 {RRER(H e
by CC : | | , Ul Aa i :
@ a o @A) A |
Bz - o (B) =
©4 - | ©4
. (D) MZA | . (D) MZA

40. Identify the MARC tag used for 40, uQwiuidl @AWY Uird 24l AL

' varigble fields containing data %l.f’lm a 321+l A9 52l AABL WS

related to subject access to the ' ~C ) .~ -
- : ’ Uyl @aidl LS 20 vl -

documeﬁts’ :

: (A) 6XX
(A) 6XX
(B) 5XX (B) 5XX
(O XX - . (© XX
o . 07X

41, RDA (Resource Description and 41, RDA (il Slaflrast drs 2153n)

chéss) isa: - | ‘ ¢

(Aj. Display standard (A) Mg oy

(B) Content stan;'lard | - (B) [Quuarg ‘{l"LB\I.‘
(C) Encoding standard o () Addadl -t
(D) Conceptusl standard @) Rouariysd Mt

Lib. & Inf. Sci-1I S 18



42.

43.

Which “V” of the Big Data is 49 oflo 321 5L “V” 2 Seill GuuiBidl

' concerned with the' usefulness of

data ? :

(A) Velocity

(B) Variety

(C) Veracity

(D} Value

Which one of the following is “Open

 Array” 7

of extrapolation

'(B)_An ‘array of classes, not

_ admittiﬁg of extrapolation -
(C_) An arrs;_y of classes, gdmitting
.of interpt.)lat_ion |
D) An array of classes, not

admitting of interpolation

' Lib. & Inf, Sci.—II

- (A) An array of classes admitting

43.
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Wl Aoy B 7

@A) Aad0a
(B) dsé
© v

© Ay

Al 56 wsa B’ B 7

(A) Aat QU] ifsd F enamdu-l

stz 530

(B) Aat @l VRd ¥ euamdy-

sk sdl aefl

(©) Aol Wl WlBd ¥ vidudunil

G T d
D) ch QUL Ul ¥ i uA-L
Alsiz sl el

PTOJ]



14.

45.

(A)

SHERPA/ROMEOQ is associated

Publisher’s copyright policies

~and self-archiving

(B)
and institutional archiving

(C) Author’s copyright policies and
author’s archiving

(D) Personal copyright policies and

| personal archiving

Who wrote the foreword to the first

~ edition ‘'of “The five laws of Library

Science’ ?

(A) B.IL Palmer

" (B) Henry E. Bliss

(C) P.S. Sivaswamy Aiyer |

(D) W.C. Berwick Sayers

- Lib. & Inf. Sci.~II

Institute’s copyright policies -

45.
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a‘liut/i‘t[\?m‘t Al W Asifud

51

(A) ﬁsléls_-{l siflude Qi A
Wl 2istem | |

B) Al silase AR wA
a.muélq AN |

(©) Quisl Az AReil A

Aviss AAS8L

D) Aldad Adluse AR 219

fEdold dAAs

‘s159 dinb »is @A wu-A’
nau gl wdladl sid el

wdl ?

A) ol.3UsS. wH

B) & 6. bc{ia

© WD [?Lqmu{l-i?lqz .

O soiey L. s Aual,



46.

47,

(©

(D)

Which of the following is incorrect

‘about Integrated Services Digital

N. etw_ork ?

(A) ISDN is a circuit-switched
telephone network ‘system

(B) ISDN also provides access to

packet switched networks

ISDN is employed as transport
~ layer or layer 4 protocol of the
- OSI model

ISDN continues to be an
important backup network for
-point-to-point leased line

customers

erebereneerennns is a way of organizing

material that attempts to overcome

the inherent limitations of their

traditional print documents and in

particular linearity.
(A) Hyperlink

(B) Hypertext

(C) Hypermedia

(D) Multimedia

Lib. & Inf. Sci— I
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46.

47.

A A4 Rz Aeall sk

Al el g wy el 7

(&) 208 -4 At A5 Adlz 2llzs
251 A2af R ® 00

(B) U A 8l A 3 U2 el2s
“2asuddl WlRda ua sud ©

(C) 2us m{ Sl A B 2-UUE AYR |
A1y wadL i B 21t Hida-
QU2 430254 4l M @l B

O WS dy s A4 A

 Uigre—g-viS-e dlas dd-
GUALSALL IR UL AsAY
R2af dadld wa s1n s 9

........ A UTURUA Y[R nAvii-l
AuldlRs Huferzil 2 QAN 504
L5 Aufed vigumi da wHsl-A

Al W2l Ns Udet B,

(A) s

(B) slqudee

©) alvBmBu

@) HeARE

[PTO] .



49.

Lib. & Inf, Sci.1I

In the context of user studies, a 48

librarian’s study on “How well the

human-computer networks

interaction works” ? Can be

categorized as ............. '

(A) Cogniti\?e approach

(B) .'Usér-cente‘red approach
(C) Physical approach
(D) Philosophical-analytic

- approach

‘Keesing’s record of World Events” 49.-

is published from

(A) London

(B) France

(C) Germany
(D) Japan |

22

. Buatisdl

seyiut  Aseful

a5z Nead Asellan WA 3
A sl 53 B siawa gL wda s

e 59 saumi ysai ?

(A) SUAUMHS wRH

‘B) Guelsdl-3Fud HRLEM

(C) oﬂ[_as S

D) dulcas—yassAxa w1
‘Baflon 2AE viig aed $a-2w’ suidl
wsific Wy B 7

(A) dst

(B) 8in

©) ¥l

(D) A~



50.

51.

52.

- information source ?

(A)  Journal

(B) Bibliography

..‘(C) Encyclopedia

(D) Biblicgraphy of Bibliographies

‘Manupatra’ is primarily a data-

‘base of which subject ?

(A) Matheamtics
(B) Law
(C) Medicine

(D) Humanities

Identify from the following which

publication is included in Indian

National Bibliography.

(A) Maps.

(B) Ephemerals

(C) Musical (Scores) .

- (D) First issue of new periodical
Lib. &Inf Sci-II
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51.

- Which of the following is a tertiary  50. ~0A-usi-l sl qfY st uRA
| wid 8 ?

T (A) wwls

(B) alvuy™

(€) wsia (@A=asia)

(D) WHUYRNA AHaYR

UGl A yaod A s R
$29 B 7 |

@) AR

52.

(B) SWEL

(O dAes

D) Hndly [aen

Shrsud  Audd  Boelaiaiglal
DA Al st usia-iql 2uda
s w19 &8 ?

(A) s

(B) ueumdl udw

(C) ¥Alsa &‘&[ o

D) -l AASL nay is

PTO]



53. “Amzqns’s kindle” is .............

(A) An e-book reading device
(B) A Website
(C) a librafy softwarel

D) a journal |

54, .-Thé lit:énsg for accessing the

‘Europa World of Learning Oﬁline

2019’ is available through :

| (A) Routledge-(Taylor and Francis)
(B) -S'pri‘nger Open |

(C) Sage Publications

D) Elsevier

55. ‘Instagram’ was acquired by

Fecebook 1n the year :
(A) 2008
(B) 2010
(©) 2612

(D) 2014

Lib. & Inf, Sci—1I

53.

o4.

55.
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“aﬂa?m;,{ Brsa” § & 7
(A) S-olu aiaar W2 Gusaw
(B) Asube |
(C) slaey Aigedr
D) AR

| aes  wis

‘yriul al+{al

Aials1-200¢’ L Wl W0

yrawdl st gt dell ad 8 7
@A) 328524z A sf)
(B) a[[%:a 2Ly |
(C) A% woeflia-

D) Aeufaur '7

s5u0s gl

----------

‘Sv22130M’ AR S Ul 8l

" (A) 2008

(BY 2010

(C) 2012

(D) 2014

-



- 56. Which of.the technology uses 56. 32l girula- W2 B4l Bsasdlq

electromagnetic waves at radio

frequencies for data transmission ?

(A) Lifi -
(B) Wi-fi
(C) Optical cables

(D) Co-axial cables’

57. The CAI (Computer-Assisted

_' Instruction) technique based on

programmed instruction is :
. (A) Frame-Based CAI

(B.)‘ éénerativg CAi

(&) lProblen'jl-so.l-ving CAI

(D) Intelligent CAI

58. 1SO 26324 : 2012 is a standard 58.

for :
- (A) RFID in libraries
(B) DOI

(C)_ Dublin cere

(D) Inter Library Transaction

Lib. & Inf. Sci—1I
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A s2lAods Al 56 éafﬁe&m

GUUHL Qi 8 ?

(A) dLS-51S

(B) Ad-515
(C) ivdlse og

D) si-usAlrnd dog

AW (sager—dnllds Sapsa)

Al A sut sidsy YAl 2ualRa

-

¢ ? _
(A) 3SR 0. N 30

(B) ¥idla Al A s

(©) iﬁf»&ﬂ-@ﬁ@ﬂ'ﬂ Al A W

@) Sl Al N S

WS A >l 26324 : 2012 A A-

el Weis 8 7 |

(A) denadidi 22 As S 8l

(B) Slwad o se wWESEls1ur
(DOD |

- (C) sudlw siv
- (D) Aid AUEY HA8lR

P.T.O.]



59.

60.

61.

Lib. &Inf. Sci 11

Which of the following transmission
protocol is used in case of streamed

media scenario ?
(A) ARP

(B) UDP

(C) HTTP

(D) BOOTP

‘Which part of the QR code

represents the encoded data ? .

(A) Three positioning element

(B) Data element

(C) Location

D) PrOglfainme for reading

Identify from below, the best

research methed for a bdpic_ on—the

. 60.

‘themes used in English novels of

the ‘20th century’ of a particular

library collection.
(Aa) _Case study method
(B) Community sufvey

(C) Content Analysis

(D) Evaluation Research -

26

59.

61.

Al sl gl dieisia
Fls Bdlal Rudlainl Gudiomi
Aciy 69 7

@A) 3w

®) 3 80

© A 4 a0
@ ol > 2l a

5y SR S+l sUl Gl AASISS e
uRFRc 52 B ?

@) ol shadol ues

(B) 82 428"
(C) 2
(D) At -l silsn

A AlssA Aman AAsHl 204

Cqdldl e AadsupML QupNAY

Qvuaxg’ @Avus g we -l
A4 56 Gun et Wl da A
winvfl eldlal. |

(A) 3 wd Aus

C® sfa

(©) 3ré‘-—é NN EC kY| )

(D) dacivlud Rud



T

62,

In research, on ‘motivation among

- university library professionals’, if

i

the researcher takes every third

person from each category of staff

as -‘sample, it would be :

(A) Simple Random Sample

(B) Stratified Random Sample

(C) Population

- (D) Snowball Sample

63.

- table for area” was introduced ?

(A) DDC 14th edition

(B) DDC 15th edition

(C) DDC 16th editjon

(D) DDC 17th edition

Lib. &Inf Si 1T
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62.

In which edition of DDC “Auxiliary ~ 63.

‘Qralqenay duigy cqquisiui

A6’ uR-L dsdusni A dallas el

&L s atinid] €2 Hfloy g
el a0 wle 52 8 aul

2wy B

(A) AWML ugle9g )

(B) uRelg ugleog, -yl

(C) U4

(D) lelld Ayl

slsl Al Al 5§ 2ugRini Rl
Wil usius wrell’? WA sami
Al 9 7

) Sl 8l 1l gl

B) sl ¢l Al 1wl 2ugf

© 4 Sl Al a5l suqf

D) sl 8l 1ol suqk

[P.T.O)] -



64. What is the third part of colon

65.

Lib. & Inf. Sci 11

classification ?
(A) Schedules
(B) Rules

(C) Classics and sacred books

(D) In_dex

The first ............ characters of Record

Label in CCF indicate the length

7 of the record.

A) 4

B) 5

(C) 12

D) 24

64.

St saRBIundl 1A el syl

07

@A) S (Rsye)

65.

- 28

B) FuMl

©) u[ili»a 2 WRA el

™) et

Al Al s Hi 5 Al nun

a1l A8 deus eald

(A) 4
B) 5

(Cy 12

D) 24



66.

(C) Research- |

67.

Which types of libraries primarily
organizes extension activities ?

(A) Public

~ (B) Academic

(D) Prison

The foilowing functions are carried .

~ out by firewall :

(i) Filters the IP packets.

(i) Open a part to only specific and

_ ‘reliable IP addresses.

(fii) Used to enable user privacy.

(v) Used to enable anonymous

| surﬁng.

'lCQdes:

(A) (i) and (ii) are correct
(B) () and (iv) are correct
(C) () and (iv) are correct

D) () and (iii) are correct’

Lib. & Inf. Sci-1I

66.

67.
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sal wsil Al LIIEE Ad
Rrdet wqfed A% 3 ?

@) %82 (udosFis) |

fB) el s

(C) dala-

D) ¥a |

SR Ald gL A sl Aetg oA

ry

O S 0 WA Alezr 12 B
@ e [Alee u—l [qua[:m eIk
0 Aga A2 WA WA .
Gii) Guellsdt-ll siddldadid Wy 8.
() %t;tl‘*ﬂ Aslad w8,

8s -

(A) G) @ @) WAL B

B) @) 2 (iv): AR &
(©) (i) @7l (iv) AN él
D) () U D) WA B
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68. Which of the following rights are 68. Gilid'il sidlde suel Yopoy

granted for ‘Literary -Worl_‘s ARRUS sdl’ W AA-uniell su

according to copyright law of . ) '
- 8550 2NN 2 & ?

India ?
(@ dale 534l

(@) To make translation

| (®) Wedn ol wddid
(6) To use in reporting current - .

HS GUUL S

events
(¢) To make any adaptation (@  siua uidy 539
(d) To use for the purpose of (@ Adaiad 3¢ M2 GuyldL s3q)
research N
515

Codes : : .
| (4) (@ 21 () WA 8
(A) (@) and (c) are correct

, , (B) @ ¥ (b) W &8
(B) (a) and (b) are correct _ :

_ (C) (B) 1 (¢) WAL &
(C) (b) and (¢) are correct ‘

(D) (b) and (d) are correct D) ‘.(‘b) :"lf:l (d) A1 3

Lib. & Inf. Sci—II o " 30



69. Intellectual Property Rights (IPR)  69. olllgis duel A (dus Yl 2412)

70.

covers :
(@) Pé_ténts

(). Computer programmes
(¢) Music |

(d) Classroom leé_:turer
.
(&) @), ®), (© are correct
(B) (), (c), (d) are correct

© (a), (b), (d) are correct

D)) (d), (c), (d) are correct

Which of the following are levels of -

communication problems according
to Warren- Weaver ? Select the
cdrrect- answer from the codes given
below :

() Technical

i) Dialectical
(iii) Semantic
(fv) Syntactic
Codes : |

(A) -(i) and (ii)

(B) (ii) and (i)

(C) (@) and (ii})

(D) (@iii) and (fv) |

" Lib. & Inf. Sci.-1T
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70.

" (A) (@), ), () A D

Wi Q- wda sami vl 8 7
(@) Asa vqln Qew)
(B) s¥yex HuR

(c) *dofld

() q°[1~is-1t aquy |-

sis
(B) (), (), @) WA &
© (@), ), d WA 8

D) (a), (e), (d) WA &

i3 QR Mo Yoo DAl su

TR MU WML 9 7

@) esHlsa
() swuasdlsd
i) AMLELS
@iv) [%Lréf.élg
As:

A) () ¥ (i)

| (B) (i) A (i)
(C) G) A (i)

D) GiD) 21 Go)

[P.T.0J



71.

From whiceh universities S.R. 1.

Ranganathan was awarded D. Litt.

(Honoris Causa) ?

(a) University of Delhi

(6) University of Madras
(© University of Lc;ndon
@) University of Pittsburgh
Codes :

(A). (a) and (b) are correct

(B) (@) and (c) are correct

- (C) (b) and (c) are correct

720

(D) (a) and (d) are. coﬁect

Which types of journals are listed  72.

in DOAJ ?

(i) Free journals

(i) Online journals

(it3) Subscription-bésed journals
(iv) Printed journals

Codes : ‘

(A) Both (ii0) and (iv) are correct
(B) Both (i) and (iii) are correct
(C) Both () and (i) are cdrrect |

(D) Both (i) and (iv) are correct

- Lib.&Inf.Sci-11 32

AU ol st [zaRenadl

d2sdl gl.efle. Al Guell »uvami
20a¢l edl ?

(@) g[ﬁqﬁia& 215 [Redl

) yRalidl s Ha

© yFaRla s dse

() YRl s Jleuow]

sis 7

H(A) (@) A (B) WA B

® (@ 7 (© WAL S

(©) () YA (@ WA B

D) (@) ¥} @) WA D

SLoL A%, ML UL Ust i sl
gl e 8 ? '

@) @ ¥l

@) Hens e

@) aes sald yde
() Ylad °3e{c;_z{

siS

(A) @) WA (o) 6 WAL B

(B) G) 2 Gii) oA WA B
©) G) »A @) ol AL
M) @) ¥ o) oA WA B



73.

- 74,

Which of the following notations are

used in thesaurus to indicate
hierarchical relation between

terms ?

@) BT, BTG, BTP

() NT, NTG, NTP

- (@) USE

@) RT

~ Codes :

4 (Al) (i). aﬁd (ii) are correct
(B) (ii) and (iii) are correct

~ (C) (5i) and. (iv) are correct

® & and (iv) are correct

Which of the following are not

change management models ?

® " Kurt-Lewin’s model

(i) Beer's model

(iii) Las_swell’s model

(w) Epidemic mﬁdei

Codes :

(Aj () aﬁd (iii) are correct |
(B) (i) a:nd (iv) are corl;éct
(C) (&) and (iii) are correct

(D) (iii) and (iv) are correct

- Lib. &Inf. Sci—1T

73.

74.

flallaani wel @ slis Aeidl
galaar e Al 59 Al
GuwalaL sacuMi 20 8 ?

® A4, Ao, QAL
@) W, Adw, A
@iy Yo

(i) .2l

.!;lS:

Q) (@) ¥ G) w8

| (B) (i) 2N @) WA B

(C) (i) R Gv) A &
D) @) ¥ (o) WA B

el 5§ A2 Aoz W3l
2l ?

@ séadld Wi

G) ofluzd Hisd

i) Quddd Wsa -

v) AWZs Hda |

fs:

(A) @) ¥ (i) WA B

(B) Gi) A (i) WA B

(C) (i) AL (i) 21 B

D) Gi)) 27 () AA B
| - [PTO]



75. . Assertion (A) : Components of web  75. $%+L (A) : 4 2.0 L 428 WRAA

76.

Reason

.2.0 has helped to disseminate

information at a faster rate:

Reasbn (R) : The information

disseminated is peer-reviewed.

Codes : .

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false
(C) (A) is true, but (R) is false

D) (A) is-false, but (R) is true

Assertidn (A) : Knowledge

- management is an extension of

conventional library management.

(R) : Knowledge

management deals with elements
like content, technology and culture.
Codes 7: |

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true, but (R) are false

(D) A is false, but (R) are ‘true

' Lib, &Inf Sci1I
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76.

qald »SUL MLl uuRd sl
Hee 53 8. S

529 (R) : U HRA Fsaud
gL wflan wddl €iu 8.

818 :

@A) (A) A ®) 6L W D

(B) (A) A (R) olnl wliaL 8

©) (A) Wy B, wig R) wig & -
D) (4) ¥ig 8, uig B) WY B
3L (A) : ALAAARINA B wINRUL
SR ale(zallnrtrﬁ o Y 8§,
S (R) : iedaRaie A [@Qyyarg,
25riidie v A4l Fa w28t 0

Aoy g1 6.

SIS -

(A) (A) w1 (R)' ol AL &

(B) (A) ('R) oin wii2l §

© @A) wy B uig ® Wg ®

D) (A) g 8 Wy B WY 8



77.

78.

Assertion (A) : Although the

Transmission Control Protocol

(TCP) is one of the main protocols

of the internet protocol suite, it is

not particularly suitable for real-

time applications such as voice

over ]P.

Réason (R) : Because TCP is

“optimised for .a'ccu'rate delivery

rather than tim,eljr delivery.

(A) Both (A) and (R) are false

(B} (A) is true but ,(R) is false

| (C)ﬁ Both (A) and (R) are true _

(D) (A) is false but R is true

Assertion (A) : Many of the big

‘computing.

Reason (R) ¢ Cloud computing has

libraries are going for cloud "

helped them in operating multiple

servers locally.

(A) Both (A) and (R) are true
(®) Both (A) and (R) are false
(C) (A) is true, but (R) is f;alse
(D) (A) is false, but (R) is true

Lib. & Inf. Sci.~II
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78.

&

[ A) : 2-afaq s-2la Welsia

(A1) 3 SwerA2 WA A5y
L 35 e AN B, A s

A S A sl Fau Jlme

asu Ael3usAy W2 yaiod ol

512° (R) : 5129 3 20l 2
AHUARAL aduefll sl alRRd

“adup{l W2 a_ha £,

(A) (A) YA (R) ci-l (E

(B) (A) Y & g ®R) Wig B
(© @ A ®) 6 WU B
M) (A) “ig B uid R) Wy &

5% (A) : W21 UM "Ll 54165
A ds oS W@ B,
SQ-(R) : 2 sa oy ad
N2 AL 5A6S sy Qua
HEE3Y ol 6.

(A) (A) 2 R) o WA B,

B @) wA ®) ¢A via B

(C) (A) Y &, uig ®R) i e; :
D) (A) Wi¢ B, uig (R) W &
\' . Pro]



79. Assertion (A) : In a bivariate 79. Rl (A) : B 2uAvyi 20 Y

graph when values plotted on Y 42 yeu safaadi »ud cul Ad yeu
fend to decrease when X increases 82 dl X 'CL yey qfl A Bl [q& g
and conversely, then the relationship 3 ' i3 y¢) q2A-) Uela es1AGS

_between the two variables is said to sdl as.

be positive. : .
5139 (R) : 24l Aoiami 2dinl

Reason (R) : The variables in such o
8s512cHs Td Aoia ﬁsm 9 MY sdl

a relationship are said to be
o ' USY.

positively correlated.

' ' SS
Codes : o

| (A) (A) WY B uig (R) vig &

(A) (A) is true but (R) is false L |
o (B) (A) 1 (R) 61 vilaL 8
B) Both (A) .and (R) are false

- o L (O) (A) ¥A (R) 6L WAL
(C) Both (A) and (R) are true

B D) (A) W& B Ui R) Wy B -

(D) (A) is false but (R) is true | ‘
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80. Assertion (A) : LIS profession is

not considered at par with legal.and |

V médiéal pro'fe‘ss‘ions.

‘Reason _('R) : There is no
cogstitutionaI body for LIS
profession like Medical Couﬁcil of
 India (M'CI)Q and Ear Cﬁuncil of
.India (ECI).

.Cod.es :

(4) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C)'-_(A).is true, but (R) is fglse |

(D) (A) is false, but (R) is true
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80. 5t (A) : siay A R QA

AU SIUEL A desell il

- Fedl Alstu) -l

SRR (R) : dAEd 27 WRA R

AQAIY, 112 ABsa s16A viis SFsuL

(A Al 2U8S) 2 eur s6FuA vl |

SRour (ol Al 2015) ¥ oisney

'12&_.

5S

(_Ai @) % ® 6 wa B

(B) (A) ¥ (R) f’i;\,‘*ﬁ_al 8
(© (A) é{_lg @,-ui'g ®) g &

D) (A) vig ©, Wig B) wy 8
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81.

82,

 Lib.&InfSeiTI

Assertion (A) : Web OPAC can be  81.
s ALssU Aaway diddld Guuia

used by users only within a specific
library.
Reason (R) : Web OPAC is

available on-the internet.

Codes :

(A) (A) is true but (R) is false

(B) (A)is false but (R) is true

(C) Both (A) and (R) are true

- D) Both (A) and (R) are false

Arrange the steps in researchina  go

sequence of their occurring :
@ ' Data collection

(@) Report writing

'(iii)--Forinulation of research

problem

" (v) Identification of research

problem.
Codés: _
@ O @ @ @
B O G G @
© @ G @ @
O @ O G G

s+ (A) : Aol iU Guulasdl gl

SAUML 2d 9.

SR (R) : Aol A 20 S22 YR
Guaey 8.

£ : | |

(A) A) w3 B uig (B) vig B
(B) (A) ¥ © uig (R) Wy &
©) (A) »1 (R) 6l WA 8

@) (&) A ®) A vl D
gt Al A A s
el : R

@ a=d (32) Al wlq

() e Au

() ddiaq axag [ale

Gv) At Wl wiow

sis -

(A) .(i). G) G )
B O @ G G
© @ G @ @
™ ) @ @

@) @)



83. Arrange the following internet

based facilities in its correct

- chronological order :
@) Google

(i -Hotﬁiail

(@i) Facebook

(iv) Whatsapp

Codes : -
A O GG Go)
® @ O G @
© @ @ @ O
O G G G 6

. Arrange the following according to

their year of origin :

() Indian National Bibliography
(1)) Briﬁsh National Bibliography
(iii) Cumulative Book Index

(i) Books in print-

Codes
A O G @ @
® @ © G @)
© @ G G 6
@ G @ @@

Lib, & Inf. Sci.-11

39

83.

84.

Srean2 uallRc YRAIA dn
sllgsHAl sl 1

@ 2

@) endd

@) $SuYs

GHRCIEZ TN |

S

A @ G @ )
® @ © @G G
© @ @ @G O
® G G @ O

AR Al w3l Al sHHL

- olegt ¢

G Shsun Audd Bodluioug)

@) By Aud Bedl»iug
Gii) sy4Qdla o5 $-58

() Bs S (B2

sis :

A O @ @ @
® G 6 G @
© @ G @G ©
D) @

@) )
| [P.T.O]



85.

86.

Identify the correct chronological
sequence of the following :

- (A) Bibliometrics, Informetrics,

Altmetncs Webometrics

(B) Blbhometrlcs, Informetrics,
Webometrics, Altmetrics

(C) Altmetrics, Informetrics,
Bibliometrics, Webometrics

(D) Bibliometrics, Altmetrics,
Webometrics, Informetrics

Match the following and select the

correct answer from the following

. codes :

)

(A)

List. T
(@)
®)
(c)
)

IP
TCP
UDP
ARP
List II
Reliable delivery protbc':ol
(@)

‘Helps in determining address
on a network :

(¢ii) Datagrams

‘(i) Connectionless protocol |

Codes :.

| @ & @ @
®© @ G @

® @G 6 G G

©€) @) @ G - G

D) G) (i) G)

(iv)

Lib. & Inf, Sci—II

40

85.

v{lalru-?t ALYL ﬂasmjwz il
olelldl

&) Bolsii glsy, 5*6[‘:{;'132{
peedlsu, Aollaglsu

(@ Bedlainglsu, S-eidsu,

86.

JelAZsU, NS

©) meaNZsu,  S-siA sy,
(Bolxindsu, AR5

D) Bodlaizgdlsu, vieed sy,

AoiiRdlsu, Sesidsu,

A0 [seuin st w12 quﬁat
sisHisll A G wde s

el 1
@ 2ud Ml
(d) 2l Al
@ 3 sl
d 3 w2 Wl
T |
@ Rsaafy Rda?l Wdsa

Gi) Nledd -l A - YRAPA
sl Hee 53 &

(i) Sal A
(v) dué [Q-u-l dicisia

sis :

@ ® © @
@ @ G G, 6@
®B @G O @ @
© @ O @ @
D) - @)

@) @ O



correct answer from the codes given.

below :
List I

@ UNESCO |

Gi) IFLA

(i) WII;O |
‘(iui ACRL’

. List II

(@) Geneva

®) Chicago -

.(C) Paris

(d) Netherland

Codes = |
0 @ G @
@ @ © @
® © @ ® @
(C) © | @ @ ®

O & © @ @

. Lib. & Inf Sci-II a4

~ 87. Match the following and select the 87 DA [@Aseyin RSt v "[la_ ealda

suisll WAL Gu wie 53

el 1

G) YRS

(@) o5dl

@i <l

Gv) A A 2 A4

adl I

(@) allal
®) Rl
© WA
@ Aaars
$is :

@ @ @) @)
(A) @ © @ -(b)-

B ¢ @ & @

O @ @ @ &

D & © @& @

[P.T.0)



88. Match the following and select the 88, «lld-l [Aseyia Ast A QA sulde
correct answer from the codes g_iven. _3"[5%_2[[ Al G e 53U
~ below : . '
| el 1.
List I i
| | @) A la
(i) Marketing Mix | |
| @ 7l 2
@) 7 Ps -
_ (i) 2die A-ulla
(@) SWOT Analysis ' SRS
Gv) 2. 8l.aus. 6@l
(i) SDI Bulletin
. wél i1
List II . :
| R | @ *wWRdl Gux
(@) Information Product

_ - () wala@ HHadis
(6) Environment scanning .

(c) ‘Neil,Bordenr | @ 54 elist A

) Jefome McCarthy @) % Assiell .

Codes : | §is :

_:(i). @ G @ @ G G @)
WD O @ ® e @ e @ ®
® ® @ @ © ® e @ @ ©
© @ © ® @ 0@ e ® @
DO @ e @ Do @6

Lib. &Inf Scdi-I o 42



89. Maich the following and select the 8l9. 1A [Aseul ASE A 2t sisuidl

correct answer from the code;é given
below : |
| List I
) Libriv.ox
(iiy Open Library
iii) DOAJ
) Jamendo
List iI |

(@) E-Journals
&) Free Music
(¢) E-Books
(@ Free audio books
Codes

© G Gi) o)
A B © @ @
® @ © @
€ @ @@ @ O

D © ®. @ @

Lib. & Inf. Sci. 11

AL G wie PRI

o qiél I
0} c{la&citsa
@) A mé&é‘l
Gii) St a3 F
(iv) %¥A-Sl

¢l 11

@ St

® A s

(cj §-0L5
@ ¢l USUL o5
8s :

® @ @ )
tA), '(b) © @ @@
B @ © @ ®
© © @ @ ®

D © © @ O |
[PT.0]



90. Match the following and select the 90, 1A~ [Qsein RS w7 1A salda
‘correct answer from the codes given sisuiall WAl Gur wie s :
below : | ‘

o wel 1
List I - , .
o () AHY ASIUSL

(©) Common Auxiliaries :

' R @) WHY Yust

(f) Common Isolates . :

S | @) At Yafdeuol

(7)) Standard subdivisions _
| ) weu-d Qyy WaRepsl

{iv) Common subject subdivisions

oy : : gl 11
List II ‘ ,
o o (@ ol Al-2
] (@ BC2 .
. (b sl sl Al
(%) DDC
(&) CC @ 30
@ UDC @ 3 sl
Codes - | Sis
@ G) G () : @ G @) _' (iv) -
A @ @© @ & | (A) '_(a) © @@ (B
B @ ® © @ - B @ & © @
© @ © & O @ © ® @
D © ® @ O D © & @ @

Lib. & Inf, Sci—II ' 44



91. Match the following and select the 91 A1 (Qsedin Ast ¢ -

correct answer from the codes given

adl T
. below :
' @) AsAlaslia
- List I '
. Gi) ey
() Exlibris

Gi) Polaris i) SisL

(iii) Koha - S (@) Sl -
() Despace | | o '_ gl
~ List 1T - | @ Roes
(@ Liblime . | | | (b) et
(b) Alma ) | | - (e) SYRUSEGBS

(¢) Duracloud

@ S44da S22z S

(d) Innovative interfaces inc.
8 -

Codes :
@ G (@© (d)

@ b @© @ . -

| | A G @ G G

Ay @) @ G G I |

- | B) Gv) G G) G

B) @ @ G G |
' | | © G) Gv) & G

© @ G O G _

O G @ O G Do @

Lib. &Inf. Sci-1I T | [PT.0]



92. Match the following and select the

correct ansWer from the codes given

below :
_List 1

@ Mésh

() MEDLINE

(i) AGROVOC

(iv) PubMED CENTRAL
List 1T

| (@) Multiling'ual thesaurus '

(b) Free archives for full text

biomedical and life science

journal. articles
(©) Subject headings
(@ Bibliographic database
Codes | B
® G G @
W@ © & @
® @ 0 @ ©
© © @ @ ®
D ©@ ® @ @

Lib. & Inf. Sci 1T

92. A~ [seuin st 11 1A sulda

sisHidl WA Gul Wae s 0
el 1

@) A

@) AsAldH

(ii5) HIUALS |
(v) uoL As A4

il I -

| @ sgeudl Rl

®) auq‘tﬁslsc{ A dlSs AU~
s iyl vl w2 Y4
Wl |

© [@Qxa Huit

(di qisﬁm;@q S0

£s : |

O @ @ G

@ @ © ® @

® @ 6 @ ©

C @ @@ @

Dy © & @ -(a)



93. Match the following and select the  93. +llA-it Rseui AS| 21 1A cafdal

correct answer from the codes giveh

below :

@

@

- List I
Nominal sdale :

Ordinal scale

(@i2) Interval scale

(iv) Rati6 gcale

List I
(@ Number of inter library loan
reqﬂests | |
®) Temper_atqfe ﬁleasurement
(c) Gepder as variabie |
(d) Ranking of library services
| Codes : |
@ G G )
Aa & o @ @
B) © @ ® (@
© ® @ @ @
D) © @ (a)' ®)
Lib. & Inf, Sci—II | ‘ 47

sisHidl WAl G4 wde 53 ¢

@

(@)
1)

()

(a)

- eyl

)
(©)

(d)

A)
(B)
(©)

(D)

el I

Allda Ba

2islHa W

gread wWd, |

Al B

el 11

GuctMi MU

' .._‘s_\lS :

[6)
®)
(c)
®)

(c)

©))

- A{e)

@

@

(@)

Ala—ue s

(iid)

(d)

©®)

@

(a)

id—A ALY did Mol

Sjmay Aaiidl s1

@)

(a)'

(a)

®)

©

(P.T.O.]



94 Match the following and select the 94, -1l Rscuid A 31 A cufda

correct answer from the following dsul %ﬂ' WAl G2 Wi 531 :

codes :

yiel 1
List 1 .

(@) Zipfs law (@) Awsey dl

() Eugene Garfield ®) 3t ougles
(¢) Bradford’s law . ' (c) ASsiS a
(@) Lotkas law @) dizsis dl
List II -

wel T
({) Law of scattering | .

. @) dl vlg eI
(i) Measurement of word . o
frequency @) wotrl 2iaddg wud
(tif) Measurement of author Gii) Ausll Gewesald wiun

roductivit
pl-.'o e () $*Use §523

(iv) Impact factor R
. 515
Codes :

R | @ ® © @
@ ® © -

@ 6O G @ @ @ O G G 6@

‘® G @ 6O G ® @ @ O @)
© ® @ @ @ o © O G @ G
D G G 6 @ | O @ G © G

- Lib. & Inf. Sci.—1I S 48



95. Match the fouowmg and select the  95. 1A Qsedin Asi »A A gulde

correct answer from the codes given

below :

List I
© William Martin
@) Alvin Toffler
(iii) Eric J. de Solla Pﬁce |
(o) S.C. _Brgdfoid

List 11
(@) Documentation
()] I‘n.formation. society
() Third wave
(d.) Little Science Big Science
Codes : |

© G G G

@ @ ® | @ ©
® ® © @ @
© . ® @ @ ©

D © @ @ &

Lb &If Sl 49

sisuidl Al G wRbe sU

el 1

() ARy el

Gi) ARa+ 2isdr
GiD) RS ¥, 8l Alal wsu
Gv) AA.Al. AssS

el 11

(@) SisyA-eurt

B S=silan Yiwud

¢) 4S Aq
(d) ([ded - ofld wu-y
5SS

@ G G Go)
@ @ ® @ ©
B ® © @ @
© ® @ © -
™ © @ @ ©

[P.T.O]



96. _Match the foﬂowing and select the 96. (A1t Rsewid Asi A A sulda

“correct answer from the codes given sisHigl AL Gd wde s
- below : | |
o - el 1
" List I
. _ (@) Aldly
(@ CILIP
N b)) Surdly
(b) IASLIC '
@ 954l
(¢ IFLA o
o d) A 2Aa ¥
(d) SLA | |
' . | el I
List II , |
_ ' () eRd
() India
@) UK @ 4
i) USA (i) YU
(iv) Netherlands ) &IE{QQ-S
Codes = | ' s
@ ® © @ @ B © @
A G @) G ) A @ G G G
® G) GO G G OB @ O G )
© @ G G G | ©C). G) @ Gv) Gi)
@ G 6@ @ @ o @ G G 6

Lib. & Inf, Sci—1I | | 50



97. Match the following and select the -
correct answer from the codes given

below :
- List I
03 Purely Enumerative Sc_heme
.(ii) Alm;)st Enumerative Séﬁéme
(iii) Almost Faceted Scﬁeme'
(iv_) Freely _Faceted-S_cﬁeme :
List 11

(@) . Universal Decimal

- Classiﬁcatilon |
() Colon Classification 7th ed.

'(c) Rider’s ~  International

Classification

(d) Decimal Classification

Codes :

O @ @ @
@@ @ ® ©
® ®» @ @ ©)

© @ © ® @

D@ @ @ ©&

Lib.&Iof Si-IT - 51

97. (A1 QAsewin AsSL x4 1A sufda

Sisuiel wal Gur waie s
| el I.
@ Y AUuAn ugl
@) “gil LLRrias el
Gid) ol yusly '_ua[_a
(i) Ysd gbfélq-m;[a
wel n
@ yRadd ée[laq salRF3aq
®) San .r_sal[a[%%am, ol gl
@) ASSA Se2ngd 5&@[&%21-1 '

d) SAHg mlﬁl&im

| $iS :

G G G Go)
A @ @ & (@©
® & @ @ ©

€ @ ©@©@ & W

D © @ @ ©

[P.T.0.



98. Match the following and select the  98. «{1A-l [Asewid ASt A A sulal
correct. answer from the followirg sisHiel WAL Gy we s

d l: .
eoces el 1

List I
@ llsial

(@) AGRICOLA _
) 230
(b) AGRIS '

' ) lla
() arXiv .
I @) S U-5a
(d) Compendex °

\ gl 11
List II .
: | | ' @) A W AY
() NAL -
(ii)'. FAO @) s ¥

Gii) stla yRaRid

(iii) Cornell Uhiversity

(iv) Q&llﬁm

(). Else_vier-

Codes : - sls -

@ ® © @ - @ 6 © @
@ O G G @) W (i) @ @
B @ Gy @ O (B) @) (iéi) @ ®
(© G @ © G © G @) o
® @ @ @ o D G @ (iii). ®

Lib & Inf S~ 52



99. Match the follovﬁring and select the = 99. 'ﬂadl [@seuin Asi v A sulda
correct answer from the codes given AsHidl W G wie 53 ¢

" below : _
o el 1

List I _
] @ wIlsw

(#) Lamination

@) Radee
- (@@1) Distillation . o
» (D) RHY
(iii) Cluster :
' : () WY
(iv) Agglomeration ' :
| Wel m o

List II ' ’
(@ Axra wafla
(@) Natural Sciences o
| - ' (b) AL AU
() Ocean Science
| © AMYA2 AU
{¢) Management Science ‘ _
' | @) s s sid
- (d) Harvesting of Corn
: : 5is ;-
Codes : |
: (@) (@) (@) o (v)
@ @ @) vy _ |
' A d @ o (a)
A @ @© ) (a) : _ .

- B) ®) @
B ® @ @ © B @ @ ©

| | C @ o
© © @ ® © © @ ® @

D @ @ © o . D @ @ ©@ ®

- Lib. & Inf. Sci—II - 53 P.1.0.]



correct answer from the following

codes. :

List I
{a) Library Trends
(b) -Aslib Propeedjngs_

) Journal of Academic

Librarianship

(d) Journal of library adminis-
tration |
List 1T
(@) Emerald Insight
(€133 The Joﬁns Hopkins Univérsity
press |
(i) Rbuﬂe’dge
(iv) Elsevier. |
Codes :
@ ® © @
@ @ O @ @)
® @ G @ @)
© @ O G G

O ) G @ 6

Lib. & Inf, Sci.—1II

100. Match the following and select the

54

100. {02+ Rsed RS 1A A wndan

C Sisuidl WAL Gu s s

el 1

(@) asa prsu

®) Sedol iagloy
() %-ld s zn;sm adaualiy
d) %id s adal :Asfﬁv{l:eiam

el 11

-(z) AHUS SwSe

'(u) 9 sl Slufle 3,[%:1[31.21 AA
(i) 38@"5

| (fv) AR

-!s\I.S :

@.® © @
@ @ O @ @)
®) (i)_ Gi) () @)
© G O G @

O G G G 6



ROUGH WORK
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